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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-IV « EXAMINATION — WINTER -« 2014

Subject Code: 340602

Subject Name: Surveying - |1

Time: 02:30 pm - 05:00 pm

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Q1 (9

(b)
Q2 (a)
(b)

(b)

Q3 (3

(b)

Explain the procedure for preparation of map of polytechnic campus
by using total station.

Give the classification of curve. Explain in brief.

Write the advantages and disadvantages of total station.

Determine the gradient from a point P to a point Q from the
following observations carried out with a techeometer fitted with an
anallatic lense.

Instrument | Staff Bearing | Vertical | Staff readings
Station Station Angle
O P 345° +15° 0.750, 1.435,2.120
o) Q 75° +10° 0.625, 1.825,3.050
Assume that the staff is held vertically and that the multiplying
constant of the instruments is 100.
OR

Following observation carried out with a tacheometer fitted with an
anallitic lense, having multiplying constant 100

Instrumen | Height of | Vertical | Staff Staff Remarks

t Instrume | Angle Station | Reading

Station nt

P 1.45 +2° 24 | M 1.20, R.L. of
1.83, Station

P 1.45 40 36 | Q 2.46 M 50.00
1.35, m.
1.82,
2.29

Staff held vertical . Find R.L. of P & Q. Find the distance PQ
The co-ordinates of two points C and D are as follows

Point Co-ordinates

N E
C 982.5 825.2
D 1198.6 876.4

Find the length and bearing of CD
Write the difficulties arises in setting out of curve. Explain any one
in detail

OR
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Q.3

Q.4

Q.5

Q.5

(a)

(b)
(a)

(b)

(a)
(b)

(a)

(b)
(a)

(b)

The length and bearings of a closed traverse PQRS are as follows

Line Length W.C.B
PQ 135.00 338" 22’
QR 317.50 82" 202
RS 215.00 167" 10°
SP 281.50 259" 42°

Find out the closing error and relative closing error of traverse.
Explain : Bowditch’s rule
Transit rule
In trigonometric leveling derive the equation for finding horizontal
distance and vertical distance for base of the object inaccessible but
instrument azis at the same level.
A theodolite was setup at a distance of 150 m from tower. The angle
of
Elevation to the top of the tower was 10" 8°, while the angle of
depression
to the foot of the tower was 3° 12°. The staff reading on the B.M of
R.L
50.217 with the telescope horizontal was 0.880. Find the height of
the
tower and the reduced level of the top of the tower
OR
Write the elements of simple circular curve. Give the formulas for
finding these elements
Two tangents intersect at chainage 1265 m. with angle of
inetersection
at 140°. If the radius of the curve is 300 m. Calculate the necessary
data
for setting out the curve by offsets from the chord produced
method.

State the methods of setting out of a simple circular curve. Explain
any
one in detail
Explain the vertical curve in detail.

OR
Calculate the length of summit vertical curve having an upgrade of
0.8%followed by a down grade of -0.5% . Assume rate of change of
gradient as 0.10% per 30 m.

Explain the tangential method of tacheometric survey.
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asii 5@ avil. siSua 254 Zsul aul- 52
212¢ R AU LM dAL AEAUM Qv

DA vadist ufl 224 P i At Q Al a1t AR AaAdis
A-ldls d-u $l2 s3a 2saille: a3 Al sucu 6.

Gusai | adam@ €3 | (R | Gealasi | ada@ €3
EOIL EOIL Q JELTRETE T
0O P 345° | +15° 0.750,1.435,2.120
(0] Q 75° +10° 0.265.1.835,3.050
dadae €3 Geala: AMAUL Al gdi. Guseu-il Aris Razis 100 awrl.
A
Audldls d-aaion 2saidlz § 241 amis Razis 100 8 d-uad Qd-u
vadLsHl
daiul ieul.
Gusm | Gusrarll | Gealast | adam | adam €3 a4
a4 Gas 2 €31 | u-u ala-is
A A
P 1.45 2024 | M 120,1.83, |Bug M
2.46 A aia
P 1.45 -4° 36’ Q 1.35, 1.82, Gus
2.29 50.00
mtr ¢.

dda@ €3 Geala: Avani 2ucl. Bg P 2xd Q -l wda Gudi x4
PQ a2d+d idr il

B2l C 24 D - -0A 2 8 d wefl CD -l dous aa silZa
a4l

Bi-g il

N E
C 982.5 825.2
D 1198.6 576.4

AW A5+ AI5A 5l Avid AU AU AARAAL FRUAL SISUS A5+
[Qad

Qg+ 3.
waal
s oia wandvt POQRS -l doud 24 sidla 1A el 2uda 6.
vl dasud yelad sidla
PQ 235.00 338° 22’
QR 317.50 82° 20’
RS 215.00 167° 10’
SP 281.50 259° 42’

e vl Augdl aan wda AUAg 2 A,
aglal. suBfla-i Ran

ai-fle-i Ran
Gusialdla adaaui [@Rre 211 Wl Aud Ay sl dar Gus@-il
w8l A5
o GAISA udal €ia di Bl 2id2 a2l Ged G- Amadl-u waAl
Adnai.




o fluisiasae-l 25 W-uadl 1o Wel 2id U dAsauni suy
ANl 2iasi
Gasia + 10° 8’ i {l-un- wial AL vatasiar -3° 12" muani

wLcl
faisiansed 2[asiu auid: Rawi avll da R Gu ddaags-
ala-is
0.880 i ey, da Rl G 50.217 M2 gia di Wf-uudl
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